 Total nufﬁberv of pﬁﬁted pages—'é
| |  1(Sem-2) ECO -
2024 -

ECONOMICS

" Paper : ECO0200104

(_Basw —_Elenieni;s“of Eeqnbmice ) |

Fﬁll Marks"' 60

Tlme : 21/2 hours

The ﬁgures in the ‘margin indicate
) full marks for the questzons

Answer €ither in English or in Assamese.
| 1 Anéwer the fdllowing' : o - 1x8=8

: (a) D1st1ngu1sh between pmnary data and
. secondary data.

’ 'fatarﬁaweum (et S ot Bt

(b) Give an example of a -study where

complete’ enumeration cannot be
undertaken

Contdl



(9

(@

()

(h)

o)l stol TS mmaimsww eﬁn%mq
fra - | - .
Define ‘coefficient of variation’.

. %
‘oRel @Y RS WAl |

Fisher’s index number is a weighted
(Write' true or false) -

index number.‘

| WWWWIWWW?&WI

(W@ﬁwﬁw)

What measure of central tendency is
used to calculate the HDI?

HDBI ﬁqﬂrzﬁfiﬁﬁ@@ﬂmﬁ«mﬂmmﬁ
/T WL ‘

Define econom1c growth of country

G mwﬁaﬁsqﬁaﬂ\mﬁml -
(9

Give an example of an informal ﬁnancnal
system participant.

w%ﬁ@nww\ﬁmmmq'.

i

What constitutes the prlmary sector of

an economy : ?

ﬂﬂﬂ@ﬁmﬂlﬁﬂsﬂ‘@tﬁﬁmﬂﬁﬁ“ma

Ii{Seri—2) ECO/G 2

Answer any six from the fOIIOW1ng
questions : .

Wﬁmmwmw%«’n

(a)
" (b)
()

(d)

(e)

DlStlngLIlSh between a parameter and
a statistic.

I mw’avnafﬂf%wm

How is the median calculated for a
_continuous .series ?

aﬁwﬁiﬁaaﬂaﬂmﬁmﬁmm@?

" Why is index numbers said to be
-economic barometer? , .

: Wwﬁww@ﬁﬁmmtm% @Fﬂ’w'

Define the term ‘sustainable
development’ as und‘er the Brundtland
Report.

‘Brundtland Report’ 8 ARRE WW
4R ke fa

Mention two demerits of per capita
income as a tool of measuring

* development of a country.

Q¥ (R TAE Welfd A @ﬂ?{ﬁw
75! SPjRe o

What were the three basic indicators of
human development before 20107

2010 3 % W SR 3 B3 S0
oifeEe ' o

1 (Sem-2) ECO/G 3 Contd.

2x6=12




(9 What is a financial system ?

- Rew 93 [Fe

(h) State the components. of a ﬁnan01a1 :

. system
ﬁ@krmazﬁ*w«mmaﬁnaﬁ:@ml
() vDeﬁne GDP.

| G{nxavvwﬂﬁ?nl
() Differentiate between labour force

-

participation rates and Workforce ,

participation rates. ,
uﬂﬁﬁ?@PﬁVM%$¢ﬂ3GW@aﬁwm@Qmﬁﬁmﬁra
W Ay Al

3. . Answer’ any Jour from the followmg

: . 5x%4=20
-'?Fiﬂ?Iﬁ%?%ﬁﬁﬁﬂ@??ﬁﬁ?iﬁ*ﬁ°

(a) State one advantage and one hmltatlon :

of the arithmetic mean as a measure
- of central tendency.

A contractor employs three types of

workers—skilled, semi-skilled and

unskilled. To a skilled worker, he pays .

Rs. 500 per day, to a semi-skilled

worker Rs. 400 per day and to an
~ unskilled worker Rs. 300 per day. On

a typical day, if the contractor employs
- 15 skilled, 20 semi-skilled .and 10
- unskilled workers find out the average
* da11y wage. pald by the contractor.

' 2+3 S

1 (Sem-2) ECO/G 4

m

(c)

@@mqﬁswﬁmﬂmﬁ%mmﬁﬁm
wi% Bt SRRl et | e fSemic T, Ry
T A SrE—qE fofeme i R w1
co¢ gum 7F i AU ¢oo T, 9T
Rz 2 2fSfe soo Tl Wik o o
i AfiE woo Tl TGR M | @& RS
fie % ffomTee se TF W, 0 &

RgTF A% o T SWF Rk NG W0,

ot i fra a1 0 e Rptel =1

Discuss the steps of construction: of
consumer price index number.

*ﬁﬁ@sa?ﬂiﬁasa¢m18N55:FWaaﬁmmazmﬂﬁ

ol

'State two limitations of. prlce 1ndex-

number.

Calculate price index nuinber for 2020
from the following data: 2+3=5

7T BT AW 75 TRl Tl wow $U]
2@l 20201 W BT FA A T ¢

‘Commodities " Price/mw®

: W@F - Rs. per unit /53 ﬁf\@@ﬁ

2010 .~ 2020

“A 10 . 15

B 20 - - 25

C 50 60
D 40 - .50

1 (Sem-2) ECO/G 5 -~ Contd. -



(@) What are the core Values of economic

(e

9

()

development ?.

. _Saﬂﬁﬁbﬁimawaaﬂjqanﬁﬁf%?

Briefly - discuss the essential

components of human development.

AR A ST PRI B 71 41

Discuss the role of Purchasing Power
Parity (PPP) in .intemational finance.

-vwwﬁf%$ﬁ?‘aﬁﬁﬁ“zmwﬁaavﬁmrﬂ(Pppy_‘
T el g 3

e

How do banks make profits ? Discuss.

AT @ET ANS TG I 2 I A

' C. < ‘ .
What are the causes responsible for

the unfavourable sex ratio in India ?

RIS Trp5e 375 SRS PRI s Rp

1 (Sem‘-é) ECO/G - 6

4. Answer. any two from the following

questions : L 10x2=20
OoR I SR R 75 T e 3 |

(a) Discuss the steps in 4 sample survey
- Elaborate on the stratified random
sampling method using. ‘suitable
example.. - - ... : 5+5=10

aﬁwﬁ#ﬁhﬂaaﬁmmaamﬂnaaniaﬁﬁeimnaﬂa
',ﬂﬂﬂ“ﬁ@ﬂﬁ?ﬂwﬁbv2ﬁ>m¢vﬁﬁﬁra¢vzﬁﬂy:

(b) What are the different measures of
d1spers1on’> ' 2+8= 10

Calculate standard dev1at10n from the
following date : -

Frewe Rfew awmma'ﬁsﬁvv-—aa SYI [

amﬁ*eﬁﬁﬁmzﬂﬁataais
Profit (Rs. Lakhs) 0-10 10- 20 20— 30 30 40 40 50 50-60
m-mwhr) A )
. No. of Companies . 12 17 - 23 39 .- 16 03
@Wﬁﬁ?ﬂ SR

(c)* Explam how Human Development
Index is measured in India.

@ﬁmﬁﬁswmaﬁﬁmwm?ﬁﬁhna9%%Wﬂ?ﬁﬂ5ﬂ
et == |

1(Sem-2)ECO/G = 7 . Contd.



(d) DlSCL‘lSS the functions of a ﬁnanmal
system.

SR IR PR

(e) - Discuss the main features of the Indian
.., economy that indicaté the low state of
o dévelopment in the country. despite the
~ impressive growth rates espemally in
the last decade. :

- ﬁmﬁ'—ﬁﬁ—wwﬁﬂiﬁﬁﬁﬁw
‘_.W%ﬁwﬁﬁwmawhﬁ@mﬁ
WTCFITWWI

1(Séﬁ1—i2)‘ECO./_G" 8 " 13000



